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FRAHT 91 101 103 204 | FiT BT 225 194 172 366 |#KET— T H 356 292 214 506 | 1 AT 280 304 324 628
FRYZHT 201 180 199 379 BT 12,455 11,494| 12,323 23,817|%ET=TH 179 164 129 293 | g RIHAT 707 842 911 1,753
JBRT 462 411 471 882 FRET="TH 118 134 135 269| KFEHIX 3,805 4,279 4,477 8, 756
BT 741 744 771 1, 515 |f EHT 244 244 254 498 [HKAT U T H 68 41 50 91
& BHT 381 381 394 775 | BT 3,866 3,874 3,887  7,761| INHRHEX 10,249 9,996 9,907| 19, 903 B[ A HLHT 390 479 457 936
i T 250 218 205 423 |Fafimy 184 192 223 415 ARERET 272 344 370 714
o) HT 119 108 118 226 | EHTHT 466 445 443 888 | TR HT 1,296 1,501 1,464 2,965 3% LET—T H 485 481 510 991
KA 617 545 552 1, 097 [JTAMT 3,753 3,829 3,999 7, 828 | i H H T 360 393 426 8194 ILIMT — T H 227 222 248 470
BT 16 9 12 21| FLIRKT 3,582| 3,608 3,649  7,257|H)BHT 1,718 1,656 1,821  3,477[#/NzET 590 631 653 1,284
AT 82 68 78 146 |2 Ny 624 609 624 1,233\ H @0 1,176 1,353 1,297 2,650| L4 0T 1,637 1,890 2,041 3,931
T 214 206 229 435 | e MY 1,381 1,463 1,573| 3,036 HrmRHX 4,550| 4,903 5,008 9,911 Fg/\iEHIX 3,601 4,047 4,279 8,326
Acimmy 111 72 81 153 | KAfmy 157 146 172 318
JUTHEHT 190 203 229 432| BBy 334 403 447 850 | H-EF T 3,016| 2,886 3,181 6,067 |ty 447 458 498 956
T 123 95 89 184 | HERIT—T H 365 374 382 756 | K JUAHT 1,279 1,289 1,241 2,530 |ZEigHT 311 340 341 681
TAERT 61 56 60 116 HERET T H 514 516 476 992 /1N \AHT 1,332 1,442 1,434 2,876|HHErHET 716 736 773/ 1,509
FEIEET— T H 154 148 146 204 | HERIT =T H 508 542 539 1, 081 | IEMBLSFMT 481 549 571 1, 120| BLH HLAT 239 287 288 575
TREHET =T H 118 135 120 255 [ EIRATIY T H 333 344 403 747 [ EETE— T H 62 51 35 86 J T 1,197 1,334] 1,400 2,734
FRIEET=TH 122 112 111 223|  BERHIX 16,311 16,589 17,071 33, 660|MENE T H 123 105 97 202 |6 ErmT 776 910 918 1,828
TRIEHETI T H 143 148 158 306 [ I —T H 334 219 314 533( H X 3,686 4,065 4,218 8,283
TRIEET T H 68 53 15 68| 5T 3,807| 3,834 4,010  7,844|[HRIT T H 35 34 33 67
Ry 430 395 454 849[ T — T H 283 325 353 678|ME=IT="TH 39 13 35 48| AR Br T 5,796| 6,107 6,292 12,399
P GRIT 25 19 20 SO AREET T H 585 583 634 1,217|M=EATM T H 123 122 106 228 | B JLHT 199 247 262 509
ELHT 175 165 188 353 BT =T H 892 874 923 1, 797|H&FHT 1,964 2,009 2,145 4,154 AEIFHX 5,995 6,354 6,554 12,908
et EaT 29 20 24 44| AT 1, 568 1,551 1,663 3,214| 1K 8,787 8,719 9,192 17,911
BT T 175 139 177 316 AT 1,456 1,397| 1,496 2,893 RIRHT 404 404 459 863
EN/NU) 502 467 511 978 |EL AT 185 172 189 361 | @ FEIHMT 469 413 562 9755 H I 553 631 639 1,270
R T 24 16 22 38N TARIT— T H 473 461 443 904 | I T 2,369 2,328 2,349 4,677|kERHT 655 770 736/ 1,506
& 65 53 60 LI3|\F{RET =T H 383 336 397 733| FRERT 239 292 306 598 | 74 5T 160 159 159 318
HEARHT 38 39 45 84| NTFARMT=TH 507 516 531 1, 047 Sk Ei T 978 943 976| 1, 919|FKIFHT 658 746 770/ 1,516
FHHT 370 287 336 623\ TFARATIU T H 401 403 466 869 | RN 544 613 622 1,235\ 0T 390 401 392 793
= 156 147 161 308( e X 10,540 10,452| 11,105 21, 557|HT=H] 387 396 448 844|C H44 T 575 662 680 1,342
ST 615 570 602 1,172 N L 2,410) 2,692 2,740 5,432| T BHIX 3,395 3,773 3,835 17,608
R AART 25 30 24 54| bk By 2,493 2,535 2,669 5,204 |+ HHET 161 200 205 405
Eo L 496 469 523 992 | = By FEMT 42 40 48 88|\ H1[X 7,557 7,877 8,208 16, 085| LT 286 362 368 730
HEHT 24 30 25 55 b E T 3,785 3,745 3,754 17,499 TE A TFHT 168 200 212 412
15 BT 195 167 173 340 [ L A HERT 339 340 382 722 | [ my 1,279 1,385 1,371 2,756| 7 HET 178 226 220 446
JE T 164 160 154 314 |5HT 700 682 699 1, 381 | T &y 1,915 2,038 2,112 4, 150| F1ERT 430 498 511 1, 009
AT 394 360 392 752| FH BNy 1,493 1,795 1,778 3,573[ &y 820 821 920 1, 741|H BHT 339 434 427 861
R T 18 15 19 34| Tz 3y 1,768 1,948 1,944 3, 892[dLAfRET 469 430 502 932| PHRETHT 424 501 459 960
A AERT 1,585 1,561 1, 665 3,226 T HEAT 1, 141 1,205 1,240  2,445| EfHX 4,483 4,674 4,905 9, 579|/\iEEHAT 387 454 492 946
% FH T 170 159 165 324 Fr % PIT 401 423 441 864 )| 11X 2,212 2,675 2,689 5,364
ey 137 122 150 272\ JEAT—T H 600 605 629 1, 234y 509 567 593 1, 160
M 157 134 151 285 | EIT T H 1,339 1,180 1,386 2,566 |45HuHT 490 575 591 1, 166 | &PIHT =/ £ 443 474 459 933
=S 192 171 214 385 |HEAT =T H 622 638 688 1, 326 | AR AT 178 200 209 409 | £ DAImTHE 381 404 399 803
ARHT 160 124 144 268 | EETIY T H 694 655 731 1, 386 |17 /)T 143 161 187 348| AR KV 188 192 188 380
JEATEMT 101 72 61 133| BEEmT 1,025 1, 040 1,081 2, 121|111} 1,246 1, 359 1,431 2, 790 | A PHINT SOk 111 121 132 253
I\ T 342 358 400 758 | il fH Z T 644 633 549 1, 182|FEHTIHT 391 442 497 939 | A PAIMT) 1176 313 309 325 634
Ly 217 171 207 378| X 17,086 17,464 18,019| 35, 483|%&[H]MT 436 494 486 980( AvHHLX 1,436 1,500/ 1,503/ 3,003
L1 FH T 104 89 95 184 Py 275 344 346 690
L] 93 75 87 162 b/ sy 809 841 906 1,747 REFHIX 3,668 4,142 4,340 8, 482|FEHRMT PEIA B 709 775 838 1,613
PU 7 T 32 32 31 63| F/my 481 568 602/ 1,170 FEYBHT 4 B 89 96 109 205
FHEWT 37 32 34 66| LA AE T 2,987 2,876 2,708 5,584 LM 1,312 1, 356 1,422 2, TT8| FEHBMT v .2 IR 270 168 162 330
FEELHT 91 83 71 154| T/ JHT 2,314 2,192 2,209 4,401 |15 KAEMT 314 369 362 731 | FEHBHT R 1,075 1,253 1,282 2,535
puikiaig 301 293 324 617 | F/INGHT 1,513 1,522 1,501 3, 023 | SRiRFMT 725 895 909 1, 804 | FEHRIT HLHA = 442 489 500 989
FERAHT 327 283 301 584 | HLARAT 1,424 1,366] 1,453 2,819 FAJHENT 467 513 549 1, 062|HAHGNT FZ 1,506/ 1,652| 1,706/ 3,358
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FEYRHT T 833 923 984 1,907 | EHHT /I 148 186 190 376
FEGIT 5 ] 346 432 432 864 | & M AL 257 286 282 568
FEYBHT 206 233 211 444 | FHFHMT AR 521 647 616/ 1,263
ST (L 157 178 202 380 (& HATH I 287 329 329 658
FEYBHT )1 429 465 499 964 | HHT itk 616 731 708 1,439
JEYmY rp R 6 4 5 9| & H-MT K H 424 517 517 1,034
FEYBHTFI AR 1,035 1,319 1,301 2, 620|% HHr % 98 116 116 232
SERMT A 5 1,922 2,062 2,227 4,289| & H0TE 31 39 37 76
FEHRHh X 9,025 10,049 10,458| 20, 507 | TR 302 360 359 719
EHITH 229 169 217 386
FoaL 3,877 4,488 4,660 9, 148 fHHTHA 34 39 40 79
J2qmy 1,710 1,916 1,987 3,903 | FH M AR 10 9 14 23
Gl 600 771 822 1,593|HHMTLILE 378 448 433 881
By 195 233 245 A78| F FEMTERIR 48 63 63 126
Finr 0 HT 321 336 342 678 | HHT £ 4 154 172 171 343
# KT 153 172 184 356 | 5 HEHT B 159 189 193 382
B [RIHT 71 88 102 190 & HMT /N Ha 369 426 426 852
S 5y Iy 294 419 409 828 | & HMT AR 118 151 139 290
VEE Sy HT 243 313 308 621 |5 HHT A H 197 220 207 427
Aesimy 428 441 440 881 | & M/ NEE 214 255 255 510
T T 3,614 4,142 4,221 8,363 TS EE 589 672 671 1,343
EAMT 1,783 2,114, 2,157 4, 2715 H0TrEA T H 338 375 361 736
= SRHT 857 1,017| 1,064  2,081|EHHETRSE T H 408 412 469 881
rf R IRT 1,577, 1,676 1,694  3,370|F ARG A =T H 305 402 392 794
e T 1,421 1,493 1,537| 3,030 HhHHT A IE 358 374 403 777
o1 BT 501 588 616 1,204| % H0T R BE 98 119 118 237
PRI T 649 818 792 1,610 FHMT_EBESE 125 162 143 305
JEHmy 581 655 695 1, 350 & HMTH 1 52 59 67 126
TR ES Mt [X. 18,875 21,680 22,275 43,955 MK 10,126 11,457 11,631 23,088
iy 5,690 5713 6,039 11,752
T H X 5,690 5,713 6,039 11,752
FEE HAET 1,085 1,183 1,221 2,404
rhEE T 860 736 854 1,590
s mny 474 511 504 1,015
e LT 38 28 38 66
B4y 34 25 37 62
R EHT 410 542 544 1,086
T HLRET 1,001 1,078 1, 160 2,238
o BT 767 860 894 1,754
RHL BT 1,012 1,115 1,123 2,238
ARYBHT 900 1,072 1,062 2,134
e mT 714 790 835 1,625
SEST 177 211 182 393
+-3eEemy 174 193 207 400
ERET 328 380 361 741
= R 103 100 108 208
AT 118 129 133 262
A X 8,195/ 8,953 9,263 18,216
BRI 670 704 726 1,430
EFHMTE H 1,202 1,246 1,317 2,563
FHHATFRAR 316 335 346 681
E T RAR 1,071 1,245/ 1,306/ 2,551 WA F 171,727| 180,855 187,299| 368, 154




